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Eﬁect of Seeding Type and Transplanter of Rice
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Summary

') Seeding nursery experiment .
1. The relation between soil texture and the quantity of fertilizer: no matter what
- kind of soil it is. The rice seedlings grow quickly in moderate quantity fertilizer
than in low quantity fertilizer among all treatments paddy field soil (clay) and
mountain soil (sorrel sandy loam) in Thaishan and upland soil (loam) in Shan-
chung with moderate quantity fertilizer, grow the best rice seedlings.

2. The relation between nursing cushion and the quantity of fertilizer:

By the method of upland farm seeding no matter moderate quantity or low quan-
tity fertilizer, the growth of rice seeding in feeding stuff bag and plastic paper
(with hole) are better than in oter kind of cushion. But using feeding stuff bag
seedling roots are apt to tangle together, so it is not easy to snatch up the see-
dlings. On the contrary, using plastic paper does not have this fault. Therefor,
it is worthy to be demonstrated.

(® The effect of rice seedling nusery method to the growth of rice:

1. According to the experiment result in 1972. iMilling grain weight of upland farm
seeding is higher than that of box seeding although there are many factors offe-
cting rice yield, at least from the outcomes of this preliminary experiment, we
know upland faim seeding is favorable to the rice yield under the mechanical
transplanting method.

2. In spite of higher cost of using box seeding to nurse rice seedling is stxll neces-
sary for avoiding cold damage in the first crop of northern-Taiwan because it
can be put in green house, the growth of seedling can be secured, number of
nursing day can be decreased and the time of transplanting can be controlled.
The cost of upland farm seeding is lower than that of box seeding is lower than
that of box seeding. Because the influence of weather, in the first crop of
northern-Taiwan, a continued years experiment is still needed: but in the second
crop of northern-Taiwan or in the central and southern part of Taiwan, it can
be demonstrated to the farmers now.
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